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¥ Q1. Priyank is Akshay’s brother, Sonia is Saksham’s
Sister, Akshay is Sonia’s son. How is Priyank related to
Sonia?

T 317 T 9TS &, MAATTAT FT T 8, AAT T
2T g T 1 JriAaT 9§ = g9y g2 -

(A)Nephew
(B)Father
(C) Son
(D)Brother
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Q.2 Hitesh is 27" from the left end of a row of 49
boys and Maneesh is 27" from the right end in the
same row. How many boys are there between them
in the row ?

49 TEF ﬁ@ﬁ%@@?ﬁ%ﬂﬂ%%‘ﬁ%
3 T dfxF § AW I AL 279 T
3% i fFaq TEH g7

A.6
B.3
C.5
DY
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Q3. Three of the following four words are alike in a
certain way and one is different. Pick the odd word
out

ﬁaﬁf@awﬁﬁaﬁwam@ﬁf%maﬁ%ﬁw%
3T T AT g

(A)Thorium
(B)Uranium
(C)Radium
(D)Sodium
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— Q4. Select the word pair in which the two words

are related in the same way as the two words in

the following word-pair.

I 9153 JoH T I HL {SEH 2T 153 IHT T

Brass : Copper

(a)Chromium :
Silver

(b)Bronze : Gold
(c)Nickle : Iron
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Q5. Find the missing number from the below options.

A= feq 1T faredi § | 8 94T A7d ey

(A)12
(B)32
(C)21
(D)34

https://t.me/Reasoningbymohitsirssc  §




. "_ SSC CPO/CHSL/CGL TIER 1l 2023 1000 QUESTION SERIES

Q6. Select the terms that will replace the ? in the
following series.

I Tsal FT TIT L ST ? T T AN?
o

Z, X, V, ?, R, P, ?

(C)T,
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Q7. Arrange the following words in a logical and
meaningful order.

BEIRICREEAEIGUEEE RGP EE T K

1. Write
2. Publish
3. Author
4. Reader
5. Sale
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Q8. Select the term that will come next in the
following series.

39 IS T TA9 HL ST A ad g@ar J
ST |

OBE, PDH, QFK, RHN, ?
(A)SKQ
(B)RJQ
(C)SJQ
(D)SJP
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Q9. Select the correct mirror image of the given figure
when the mirror is placed to the right of the figure

<X TS SATR( T TET TAIT FIA T TIT HL ST U7 T AT 6
TS AR TGT A 'f
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= Q10. Which two signs should be interchanged in the

following equation to make it correct?
Rarferiera aHTRTer St a8t 9 & forw g9d fae 2 =gt r
AT | AT ST AT T2

24 +8-5x5+3=13

(A) x and —
(B) x and +
(D) = and x
(E) +and+
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"~ Q11. Three different positions of a dice are shown below.
" Which number appears on the face opposite the number 6?
TF I St i srer-srerr Ryfaat A= R 7w & dear 6 F
AT B 9 Fi o &I feErs adt g7
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7Q12. If AU = 21 and EGG = 245, then how will you code
BAKE?

i< AU = 21 ST EGG = 245 g, AV 3T BAKE #1 & Fifed
FA?

(A)19
(B)75
(C)110
(D)155
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¥ Q13. ‘Cheerful’ is related to ‘Sad’ in the same way as
‘Generous’ is related to

gHHE’ & 6y 'qET @rwﬁw%ﬁmw T FT
qay T2l

(A)Gloomy
(B)Kind
(C)Selfish
(D)Intelligent
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Q14. A square paper is folded and cut as shown
below. How will it appear when unfolded?

TF I IS HT Ao fQ@TT ST /ST 3T FT

——— T Ry
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Q15. Choose the Venn diagram from the given options
which best represents the relationship amongst the
following classes:
feu T faeredt & @ g a7 @ A S Refertaa 3 &
1= G FT qI9 A=J1 Q14T &

Wheat, Mustard, Cabbage/ g, a<&l, IR
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Q16. In a code language, NEEDLE is written as
MFDEKF. How will HAMMER be written in the
same language?

T Fic WTHT #, NEEDLE %t MFDEKF feraT

HAMMER T SHt STaT § %8 T sme? ((20) )

(A)GBLNFT
(B)IBLNDS

(C)GALNDS
(DYGBLNDS
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Q17. Find the missing number from the
below options
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Q18. Three of the following four number-pairs are
alike in a certain way and one is different. Pick the

odd one out.

FAafereT 9 geT-Sisdl § 9 49 T

T S g 3T T (AT g
(A) 65-101
(B) 26-50
(C) 17-37

(D) 49-82
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Q.19 Statements: All teachers are painters. Tt a1 REHL

gl

Some painters are rich. & REFI SHIX &.

Conclusions: |. All painters are teachers. . ¥t =R=F1<
forerer 3

(REEIRE FA]

Il. Some rich are not painters. $ T <

(A)Only conclusion Il follows
(B)Neither conclusion | nor |l follows
(C)Only conclusion | follows
(D)Either conclusion | or |l follows
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— Q.20 In a row of boys Sumit is 8t" from the
left end and Anuj is 15t from the right end
if they interchange their position, Sumit
becomes 20th from the left .What is the
total number of boys in the row?
TSI T T e & g AT BIK F 8F o
AT T BT 159 T I G, TR T (9T
TITH 93 od g, a& Qa a1 9 20 g SArar
gl UTRk § Tl 6l T &7 fohaet g2
A .35
B .34
C .33

https://t.me/Reasoningbymohitsirssc




, j SSC CPO/CHSL/CGL TIER 11 2023
Q21. Select the option that is related to the

third number in the same way as the second
number is related to the first number.

39 fasheq T = FF L S AL FE&dr I

(A)1461
(B)2471
(C)2371
(D)2483
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Q22. Select the term that will come next in the
following series.

39 IS T TA9 F ST AT ™ g@ar §
AT |

57, 62, 31, 36, 18, ?
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\ "::if’J Q23. Three of the following four letter-
clusters are alike in a certain way and
one is different. Pick the odd one out.
RaferieT I Ta-a9gi 4 4 49 T&F
AT T0F 9 TF A9 8 AL TH

(A) FGE
(B) NOR
(C) KLJ

(D) YZX

https://t.me/Reasoningbymohitsirssc




R\ SSC CPO/CHSL/CGL TIER 11 2023 1000 QUESTION SERIES

Q24. Select the figure in which the given figure is
embedded

39 AR T TAT DY {OraH < TS SMH(Q IR T &
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Q25. Select the figure that will come next in the following

figure series.

I AR T TAT DL ST MATTET ArHfa @t H AR T
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THANK YOU
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